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10+ 10=
Place volul Disk
@.
(00) (©) Y %%
(190) (1)
100
0o + 20 = 420 L_£0+a =47
Place Vaolure Chont
Pundeds | Tens | Ones [Tonthas
L} L 3 &k O 3
i O
Hao ~ 10 = 4z
ILpOO 1600 = 1o

| (o hmnd./ud/s"-" | humdasd = |1

A4000 * (OO = .

130,000 +~ 4000 =

22\ =1R0030 + 1wss =9
=400@ = 190 = b |= 180 =9
= 9’—\0 —(.D = m
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ASTORY OF UNITS Lesson 16 Problem Set ,{~ %}

Divide. The first one is done for you.
a. 12,000 + 30 b. 12,000 + 300 @ 12,000 + 3,000
o N 7~ :
= 12,000+ 10 + 3 :‘2:0997'98%“5 ='12,¢§?5$D‘-"‘¢¢¢T3
=1,200+3 =1206+3 = \A =3
=400 = L"O < H
d. 560,000 + 70 e. 560,000+ 700 f. 560,000 + 7,000
@ 28,000 + 40 Yo @ 450,000 +500 @ 810,000 + 9,000
i 2 N = ine v , .
AB008 = 1 =7y |= H50,008 TR +5| 8)0,000 +1000+9
= 2800 + 4500 =5 = 10 pma
= 300 = 900 = Q10 =9
- Cio
EU REKA Lesson 16: Use divide by 10 patterns for multi-digit whole number division. 227
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A STORY OF UNITS

Lesson 16 Problem Set =7/

@ The floor of a rectangular banquet hall has an area of 3,600 m®. The length is 90 m.
@ What is the width of the banquet hall?

300+ 40 - w

300

3600 T 1O —9qQ = w
360 79 = w

O = w

@ A square banquet hall has the same area. What is the length of the room?

/S
3
\Z

|

3 = X
&2 300 = LO X0
L %X L

X X %X

C.

A third rectangular banquet hall has a perimeter of 3,600 m. What is the width if the length is 5 times
the width?

EU REKA Lesson 16: Use divide by 10 patterns for multi-digit whole number division.
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